%ﬁl%/b\JEimEﬁnul%Lﬂﬁﬁﬁ ﬂK%§I$ (R6)
I%I%E&ﬂkgﬁ u/%XLEEnX

g&.
il

R

FH 64E3A

MB|ATEMES EEERS STEENRG



%

PRECE ) .« B f %

=P

i

4 woo- H#l ¥ aFh | AL
WM T BIEIA— R LA T3E)

FE BN BERIEAs20mm  (t=5cm)

i 2,218 2,218 | nof

Astlr  (t=5cm)

ediiil 811 811 | m
BER T

AsFGEWE  L=14. 5kmPL T

wH sy HeEt ) 110.9 111 | nd

WK 1=22. 6kmLA T

w0y HeEt ) 0.9 0.9 | nf
XA T

SMARR  FERR A W=15cm

il 615. 0 615 | m

BB ER A W=15m

il 142. 4 142 | m

BB B At W=15cm

il 240. 0 240 | m

IR ER Af W=45cm

il 10.3 10| m

i AR ERE BT om ER

il ¢ W=45cm 37.6 38 | m

305 T40) FER A

wHE W=15emif 19.8 20 | m

KD (Mepperde)  EMR - fR AR

wHE W=15emif 23.0 23 | m
% T

RimFEEE R (B)

% H 24.0 24 | AH




%

G

=
% il T X
AEE T (BIHIA— N L A T9K)
£ = ORI 5K HEAS20mm ©) ® ® @
HE L (t=bcm) &M A= 715 715 + 394 + 394 = 2218 2218 | of
AsY]r (t=bcm) @ @ ® @
iediil A= 278 285 + 124 + 124 = 811 811  m
BERA TR
A s el UIHIESH  t= 0. 05 = 0. 05
®w M V= 2218 X 0.05 = 111 111 | of
T8 7K TE BIHER L 1= 0.05
®w M V= 0. 023 X 0.05 X 811 = 0.93 0.9 | nof
X H#R T
SR FEH AR ©) ® ® @
& W=15cm |L= 166. 0 200. 0 +  124.5 + 1245 = 615.0 615  m
LR SR FEH A ©) @) ® @
W W=15cm L= 67.0 16.7 + 30.0 + 287 = 142. 4 142 | m
LA SR R Bt ©) ® ® @
& W=15cm |L= 55. 0 90. 0 +  50.0 + 45,0 = 240. 0 240 | m
12 1R FEH AR ©) ® ® @
&R W=45cm |L= 3.5 3.5 + 3.3 + 0.0 = 10. 3 10 m
B A8 FEH AR ©) ® ® @
€77 W W=45cm (L= 16.0 16.0 + 5.6 + 0.0 = 37.6 38  m
140 FEH WA @ & AT
R Wel5em | 1= 19.8 1 = 19.8 20 | m
ENEIC T S IR 3 =T ) EHO & AT RO & AT
W W=15emifatE = 6.3 2 + 5.3 X 2 = 23.0 23 | m
E% L.
RIS B B &M A A
12 2 = 24 24 AH
@ : FERE@)ILA T ER ||
@ : FEM(1)ER S ER |
@ : FEM(2)dbm 1 iR
@ : FEM(2)F@E I ER ||




